SEETA RIGEFRKRELS (R2.4. 1855 - FADH)

R1.8 R2.4 |8

LR 1156 1186 30

ih X Al E 1T A2
th X R1.8 R2. 4 -5 EE
Bm— 990 1015 25 | 2AREXBOEMIZES
=l 363 393 30 EERRHOEMIZEL D
B= 249 242 -7
gm 348 338 -10 |TEERR (&E) . FERRAK (REHR) O
£hH 517 518 1
| 231 220 -11 AFERBH=BERKR. KEFERR(FIZHER) O
P 5th 95 94 -1
o 246 258 12 5 B([E—LBRET (BELR) OEm
KF 133 128 -5
FiE 63 97 34 b bIEF—LBET (EXR) DOEM
SR 46 76 30 55I[E—LBRIT (BELR) OBEM
B fE 192 212 20 5 5I[E—LBET (BELR) 0Em
N 54 85 31 B5IF—LART (BELR) OEm
ey =1 68 65 -3
FhE 150 147 -3
M 49 47 -2
Cih 60 58 -2
FH 35 35 0




BER RL4 1R - FADH)

#H3—2

E—ihX
mRme| EES R | ER| hE | RERY | BEEL
N21 i/ R B ER— R F I ] P — KA A 1 0 6:35 6:35 0
N21 | E#E/NR BERR—RHIBFAN—TH 0 1 0
N22 | Eilg/N\R BRR—RHB PR —TH 4 | 3 14:25 17:55 0
N22 [ FHig/\R BEER— R H % — KR 1 1 16:25 16:25 0
N23 | Ei#HB/\R BRER— AN B 1 —iT Y 0 2 0
N23 | Eig/N\R B RER— (A B 1 — KA 0 1 1
N24 | Fig/\R BRER—KE B 9 | 10 8:25 16:55 -2
N24 | FEHE/NR BEER—KEEH CREVYRH) 1 0 7:15 7:15 0
N24 | g/ R BRER—THL 5] 3 9:25 20:25 0
N24 | FHig/\R 7B ER— K IR 1 1 10:25 10:25 -1
N24 | Fig/NR BRER—RIE 0 | 1 0
N24 | Ei#E/NR BERER— ik 0 1 0
N24 | Eig/\R BRER—F a2 2 —al 0 1 1
N25 | Eifg/\R Bi2ER—F H 1 1 18:20 18:20 0
Ni1 | EHB/NR JBRER— BT iRk 4 3 7:50 13:35 0
N26 [ g/ \R L ayv Byt 8 —ai—REHkE—BiEER 3|0 6:19 7:34 -2
N27 | =ig/\R BEER—TEERE Fokkm Y —iBEER 4 0 8:45 11:40 -1
N32 | ®if/NR | BRR—TEERE AOEREY—ZZR [ 11] 0 [ 12:40 | 20:45 =l
N32 | miB/NR |BRR—TERBE AOZEEY—avtEoswo4—ai| 3 | 0 19:45 21:20 0
N33 | Hig/ R BER—KOERE EiHER Y —FEER 410 7:00 8:35 0
N33 | Fig/\R B —AKDEEE—TEER 2 0 6:29 6:54 0
N35 | EifE/\X BRER—BIE—RKT—I 19 [ 20 7:35 21:30 0
N38 | Hig/ R BEER—B A ERE—TEER 2] 0 7:05 20:35 0
N38 | E#/\X BERER—FABRERE—T)IIE 2 0 6:26 6:51 -1
N38 [ Fig/\R TIIET—F AERE—BER 1 0 21:13 21:13 1
ITHES A BZER—BAES 7 | 13 7:15 15:05 0
NA3 | s/ R | BRER—FATSH—BEE—FARISH—BRR|[ 1 0 9:20 9:20 0
N45 | Fig/\R BRER—BiE A — R 5 0 8:30 18:20 0
Nd4 | Fig/\R BERER—BEE—FAR TS H—ZER 3150 11:05 15:45 0
N79 | Fig/\R BRER—hEE—KTEE 0] 8 8:30 21:50 -1
N74 | FEig/N\R BEER—p AR B ERESR 10 | 13 8:55 19:55 -1
N75 | g/ R BRER—EAMh—BEEESKR 5] 0 7:15 8:05 0
N76 | i/ \R BiRER—K FE BB ESR 0 1 0
N71 [ /R BBER—K FIF— AT 25 [ 21 7:05 21:20 0
N72 | FHig/\R BRER—hEER—KF 0] 2 -1
N77 | EH/NR BRER—EH - Bt 2 —3RER 1 0 16:00 16:00 0
N5 | EHEAR B2ER—HE—=BR 17 | 14 6:30 20:00 0
N7 | /AR BEER—FIE—=88R 3| 4 10:20 18:20 0
N6 | FiB/ANR BRER—IBE—)IR & 0 1 0
N8 BiB/AR SBIRER— /N N RA—BRIEFHRT 1 0 7:33 7:33 0
N14 | FEig/N\R BEER—m A —EAit—= BER 5] 4 6:40 18:05 0
N12 | Fig/ X BEER—AmE—=5ER 10 | 14 7:30 16:45 1
N12 | FEiB/\R BRER— MR —2E 0 1 0
N15 [ FHiB/N\R BiRER—mE—Y > FLA—V—=BER 71 4 9:40 20:20 0
N6 [ i/ R BRR—PAHERER—ZER 6 | 0 10:10 15:10 0
B13 | FEHE AR SBIRER — B A 25 | 25 6:40 19:30 -8
B14 | FEHER/AR SBIRER— B A 6 | 6 9:10 14:50 12
B |FEFEENAR BRER— T REEREE 13 | 13 6:10 20:15 0
B2 | FEERAR| BERIR—FERERE (EBRU/N\EY EREEH) | 18 | 16 6:10 20:15 0
B13 | FEFER/AAR BRER—FEREERE (B EER) 1 1 16:30 16:30 0
B4 | FEEBRNR| BRER—FERMERE GhiEs. JKEY) 1 0 7:20 7:20 0
B79 | REFER/NR BER—FEREERER 4 4 14:30 16:00 0
BT |FEFERAR BRER—FE REEREE (ZLEE1T) 15 | 11 9:00 21:30 -2
816 [FEHB/ AR &y EERE 1 0 14:15 14:15 0
851 =R/ R BRER—BHBA R - KFEER— = BERE 12-1.13 8:20 15:35
852 [BEEIRANR BRER—BHEAE - KFEER— = BERER 14 | 14 6:45 20:10 -6
B53 [FEHEIR/NA BRER—BEA R - KEER—= B8R 0 1
=05 [#EHEIB AR Bi2ER— |HE—= BER 16 | 17 7:00 21:00 0
=07 |B#EHBNR BRER—FE—=8ER 4 13 7:10 16:20 0




;B4 | FE5ERANR KEEERAER YR 2 0 8:30 9:25 B
iB55 | FE IR/ R KEREAER Y % 6 0 6:15 8:00
B54 [{REFER/NR KEREER Y % 10 0 10:05 16:00 -4
iB55 |RE IR/ R XEERRRE Y& 9]0 16:30 21:00
B15 | BFEEIENR IEtHREER 1 0 8:50 8:50 0
e et T BT —= BER 0 | 1 0
823 |m+BY7 (/12 BERER— AR Tl (REETRH) 22 | 20 | 7:10 20:40 =
811 |ExavF 1z BEER— 5 5 IF—LiBiE 1 0 19:10 19:10 1
812 |E@xR>F 1R BEER—H5IF—&BR 4 0 10:10 15:00 4
821 |mxRI TR BEER—S5IF—LBiE 0 | 10 10
822 |mtRo54/12 BEER—5 5 F—EBE 3 0 8:25 13:00 3
82] |mtRoTF182 BER—AETIER (RHEETERH) 0 2 2
813 |BxaLT 152 BEER—BEMILER (BAR) 4 2 7:00 18:15 -5
941 |EtRLT11R BRER—BET I AR GEEER) 5 6 9:36 18:36 4
819 |Ex@>7112 BRER—E+Ee (hirmbrIERH) 3 5 18:30 22:05 -4
816 |m+tas 74| BRR—ELEA (Za—2 /LYY ET7EH) 11 10 8:00 17:15 0
948 |mxRLF 1R BER—EL @R (FHEER 0 3 -6
049 |BtmL >R BRER—EEE] (HEER) 2 4 7:30 18:17 6
759 [Et&>F 152 BRER—E @A (K# s EER) 2 5 7:35 21:45 0
732 |BtmoT 1% BERR—E BRI 2 — 15 | 20 8:55 17:45 0
815 |mxms74 1R BEER—F A 15 | 11 7:20 20:00 0
838 [ExRIF1/iR BEER—EH B 0 4 4
158 |EtARYT 18R BEER—EFE Ry EER) 0 2 0
814 [ExR TR BEBR—AIR 1 5 11:50 21:20 2
837 |Bx&>F 1R BEER—ANR 0 4 4
947 |BExRIT1AR BIEEER—HR (CKIREAREE) 0 1 0
1 |staer nz| BRER—HLE-MEBHAE BEAEEH) 5.] 8 9:10 17:45 =2
133 |ExRIF 18R BRER—EER 4 4 6:20 21:00 -2
043 |atass412 BEER—F HFHER 8 | 10 6:45 18:45 9
942 |EtR>F1/12 BEER— R it 19 | 20 6:25 20:30 22
942 |BELRYF41R BEER—REH (5 EEREER) 1 1 7:35 7:35 -2
7152 | BT 48R BRER—BEI I T35 3 3 6:45 18:55 0
751 (BT 112 BEER—iREE 12 | 12 6:45 18:05 0
753 |BERLT AR SBEER—Ib /K 18 18 6:25 20:00 0
754 |mtas>1i% BRER—ANAEZ— 8 7 7:55 16:50 0
masaears| BER LT 4 /NR BEER—TEERE GEHEERY) 1 0 10:15 10:15 0
rmcacars| BER YT 48R BEER—TEHEERER (KOEXMEY) 1 0 13:15 13:15 0
x| BEBYF 48R 5@1%5}?_%*%%%}% 2 0 7:50 -8:42 0
HLGEE) | BER ST 48R BEER—m i jEhke - MEEHR—ETER 0 0 -8
. £t 25
FE X
nRms| BESE i IR AR - ER|ER| AR | BRI | EEL
N21 FiE/N\R B ER— & I8 ] A — K 1 0 6:35 6:35 0
N21 | EEHE/ R BEER— R FHF A —iT 5 0 1 0
N22 HiE/NR BRER—RHBPER—IE 4 3 14:25 17:55 0
N22 | FEH/ X B ER— R F I — KRR 1 1 16:25 16:25 0
N23 | /X BEER— AR —TIE 0 2 0
N23 | ZfB/\R BiEER— N B i — K FH IR 0 1 1
N24 R/ R BERER—KEER 9 10 8:25 16:.55 -2
N24 | Fifg/ R BRER—KEEH CREVYREH) 1 0 7:15 7:15 0
N24 | FifE/NR BERER—TE 5 3 9:25 20:25 0
N24 | FiB/NR BEER— K HA P 1 1 10:25 10:25 -1
N24 | EHNR BiEER—RIE 0 1 0
N24 | FiB/NX DERER—BFIE 0 1 0
N24 | EiHB/NR BER—Ep Rt 2 —al 0 1 1
N25 BiE/NR BiEER—FH 1 1 18:20 18:20 0
N26 | B/ X TavEVT R —RI—RkE—TEER 3 0 6:19 7:34 -2
N27 | B/ X BER—TEERE FHEER Y —A2ER 4 0 8:45 11:40 -1
N32 | Hifg/\X BRER—TEHEERE AOE%kMDY—FER 1] 0 12:40 20:45 -1
N32 HiB/\RA | BRR—TFEBE AOBEEY—SavErTEoa2—d| 3 0 19:45 21:20 0
N33 | HlE/N\R BER—ADOERE EiHEDN Y —FEER 41 0] 7:00 8:35 0
N33 | EHB/\R EE—RKDEEE—TER 2 0 6:29 6:54 0
N35 | FEifE/\X BRER—BIR—RKT—I 19 | 20 7:35 21:30 0




N38 HiE/NR BERER—F ABRERE—EER 23 0 7:05 20:35 0
N38 LN AV BEER—FAERE—TLIIET 2 0 6:26 6:51 -1
N38 | HEE/NR LI —HEABREREBEER 1 0 21:13 21:13 1
NA3 | Fig/\R | BRER—FAXITSH BB —FETSH—B2R| 1 0 9:20 9:20 0
N4b | EifE/A\X BEER—BEB—RER 5 0 8:30 18:20 0
N44 ER-TAVS BRR—BEBR—FAR TS YRR 3 0 11:05 15:45 0
B13 |[FEEBRANR BEER —BES 25 | 25 6:40 19:30 -8
B4 [FEFERNR JBERER—iBEE 6 6 9:10 14:50 12
B | FEEEREANR BERR—FEREERR 13 | 13 6:10 20:15 0
B2 |FEEEAR| BRER—FEREERE (ERAUNEY FREH) | 18 | 16 6:10 20:15 0
B13 |{FE5ER/ R BER—FERMERE (Mo LEH) 1 1 16:30 16:30 0
B4 | FEHEENR| AER—FEIREERE BEEE. EEY) 1 0 7:20 7:20 0
B9 | BRI/ AR BiEER—FE R ERIR 4 4 | 14:30 16:00 0
BT | FREFHERANR BER—FEREEREE (BL1T) 15 1 11 9:00 21:30 -2
941 [BxRIF11R BEBR—BETI R RiEER) 5 6 9:36 18:36 4
048 |mtms7 4% BERER—EER (RiEER) 0 3 -6
949 |mtRLTAiR BEER—ELE0 GEEER) 2 4 7:30 18:17 6
947 |BLRITF AR BRER—HR (KEREARH) 0 1 0
943 |BtRSF 1R ;B2 ER— B HF5HER 8 10 6:45 18:45 9
942 |BLRIF11R BiEEN— R 19 | 20 6:25 20:30 22
942 |ELRLT 18R BEER— R A (FEER$REH) 1 1 7:35 7:35 -2
mwaenrs| BER DT 18R BERER—TEERE (EHESEEY) 1 0 10:15 10:15 0
smacars| BB F 48R 72/*5}%‘?%?%% (KDExMEY) 1 0 13:15 13:15 0
maacars| BEB LT (/8 BEBR— Rk IR 2 0 7:50 8:42 0
&t 30
F=H#X
BEma|  BEER B ~ ERR || AR | RERZ | REEEL
N21 | Fifg/\R B ER— R I ] N — K SRR 1 0 6:35 6:35 0
N21 | Hig/\R BiRER—REHIFAA—IR 0 1 0
N22 | Hi@g/\R BRR—REHBGHER—TH 4 3 14:25 17:55 0
N22 BB/ R BRER— R FH B — XHAIR 1 1 16:25 16:25 0
N23 | FEifE/\X BERER— RN B —TE 0 2 0
N23 | FiE/\R ;B RER— A N 2 1 — K AU 0 1 1
N24 B/ AR BERER—KEEH 9 10 8:25 16:55 -2
N24 | EiENX BEER—AESER CEAYER) 1 0 7:15 7:15 0
N24 RiE/NR BERER—TEY ) 3 9:25 20:25 0
N24 HiF/NR B ER— K H 1 1 10:25 10:25 -1
N24 | FiB/\R BER—RE 0 1 0
N24 | Eig/\R BEER—FiR 0 1 0
N24 | FilgN\X BEBR—FER 2 —aT 0 1 1
N25 L3 TAVS B2ER—PF H 1 1 18:20 18:20 0
N26 HiE/ANR avE VTt 2 —pi—EREREB—BEER 3 0 6:19 7:34 -2
N27 | EiE/N\R BERER—TEEHRER FEHEER Y —TEER 4 0 8:45 11:40 -1
N32 BB/ R BEER—TEFEERE KOExMEY—TER 11 0 12:40 20:45 -1
N32 | EiB/\R |BRR—TEFEEER AOBAEMY—LavEFtra—i1| 3 0 19:45 21:20 0
N33 | Eifg/ X BER—KDERE EiEkE Y —iBEER 4 0 7:00 8:35 0
N33 | Filg/ R Bii—AKDERE—BEER 2 0 6:29 6:54 0
N35 HiB/NR BRER—BIA—EKT—I 19 | 20 7:35 21:30 0
N38 | EiE/\R BRER—EAERERE—TEER 22| 0 7:05 20:35 0
N38 | Hilg/\X BRER—BAERE—LIET 2 0 6:26 6:51 -1
N38 | HifE/\R SLINBT—FH A ERERE—TEER 1 0 21:13 21:13 1
B BFEERANR BERR—FE KM : 13 | 13 6:10 20:15 0
B2 [FEERNR| BZEER—FERMERRE (EMU/NE Y ERES) | 18 | 16 6:10 20:15 0
iB13 | {FEFER/AR BEER—FERMERE (o LEH) 1 1 16:30 16:30 0
B4 |FEERAR| BRIR—FEEMRE GhEes. EaY) 1 0 7:20 7:20 0
B9 | FEFER/ AR BER—FEREERER 4 4 14:30 16:00 0
B | FEFEIENR BEER—FERMEERE (ZHT) 151 1 9:00 21:30 -2
macaiars| BB T 4 /82 BRER—TEERE GEskExmyY) 1 0 10:15 10:15 0
racacars| BERLT 4 /8 BRER—TEERE CKOEXxMmEY) 1 0 13:15 13:15 0
sucaiars| EERASF 4 /NR BEER—E R ER 2 10 7:50 8:42 0




F X

REMa| BJESE ERER ER|ER] R | KRR | EEEL
N21 | Eig/ R B2 ER— & I N — K 1 0 6:35 6:35 0
N21 | E|EANR BER—RHBAA—TE 0 1 0
N22 BB/ BEER—EHIGPER—IH 4 3 14:25 17:55 0
N22 HiE/N\R B ER— R G — KHIF 1 1 16:25 16:25 0
N23 HiB/INR AEER—NER—TE 0 2 0
N23 | Fig/\R BRER— N B — K HIR 0 1 1
N24 3 TAVS BEER—KE B 9 10 8:25 16:55 -2
N24 HiE/N\R BRER—AKE BN CREVYEH) 1 0 7:15 7:15 0
N24 BB/ R BRER—iT R 5 3 9:25 20:25 0
N24 HiE/N\R AR ER— A SR 1 1 10:25 10:25 -1
N24 | FifE/\X BEER—RIE 0 1 0
N24 | Fifg/\X BERER—RiFIE 0 1 0
N24 | FifE/N\R BRER—F AR 22—l 0 1 . 1
N25 | EifB/\R BEER—FH 1 1 18:20 18:20 0
N26 | FifE/\X avbE Tt 8 —a—EkE—8EER 3 0 6:19 7:34 -2
N27 | Fi@E/ X BEER—TEERE HHkEiZDY—BEER 4 0 8:45 11:40 -1
N32 | EHE/N\X BRER—TEFERE AKOEimE Y —FEER 1] 0 12:40 20:45 -1
N32 | FEB/N\R |[BRR—TFRBE AOEBEEY—avErTtoa—hi| 3 0 19:45 21:20 0
N33 [ Eig/\R BERER—AKDERE EiEkEm Y —T3ER 4 0 7:00 8:35 0
N33 | EHB/NX BRE—ADERE—TZER 2 0 6:29 6:54 0
N35 HiB/NR BRER—BITHI—BKT—I 19 | 20 71:35 21:30 0
N38 | EiF/ R BRER—BEAERERE—TER 23] 0 7:05 20:35 0
N38 | Eifg/AR BRER—E A ERE—IL)IIET 2 0 6:26 6:51 -1
N38 [ Fi#g/\X TN —BRAERERE—EEER 1 0 21:13 21:13 1
N79 HiE/NR BRER—h e —KTEHE 10 8 8:30 21:50 =1
N74 HiB/INR BRER—h A B EEEER 10 | 13 8:55 19:55 -1
N75 | ®mHEB/ANXR BRER—EEMih—EERESR 5 0 7:15 8:05 0
N76 | Fig/ X BRER—XEBEAEEEER 0 1 0
N71 HiB/NAR BiEER—K EIE—KF 25 | 21 7:05 21:20 0
N72 | Fig/ R BRER—hEER—KF 0 2 -1
N77 i/ RX BRER—BEH - Bl 3 —3EER 1 0 16:00 16:00 0]
B [ BEHERAR BiRER—{FE R ERER 13 | 13 6:10 20:15 0
B2 | FEERAR | BEER—FEEARE (EMY/N\E V) KREZEH) | 18 [ 16 6:10 20:15 0
B3 |REEENR] | BEIR—FERMEAERRE HoL&EH) 1 1 16:30 16:30 0
B4 [FEERAR| BERER—FEEERE GEEs. RAY) 1 0 7:20 7:20 0
B19 [BEHEIEAR BRER—FE REERER , 4 4 14:30 16:00 0
B | EERERNR BRER—FEERERR (ZH1T) 15 | 11 9:00 21:30 -2
snaicars| BERYT 4 /18R BRR—TEHEEEER GEskfixmy) 1 0 10:15 10:15 0
wnszcars| BERAITF 4/ R SE;‘iER_-FﬁﬁfEE (*0)%‘9&@ U) 1 0 1315 1315 0
xasacars| BER LT /AR BRER—R LR R 2 0 7:50 8:42 0
5 -10
ERME
nEsa| BEF v B8 Al R | Bk R | RERZ | EEREL
N11 RiE/NR B2ER—BE T AR 4 3 7:50 13:35 0
N5 EX:TAVS B2ER—IHE—=5ER 17 | 14 6:30 20:00 0
N7 | &B/AR BERER—FE—=BR 3 | 4 10:20 18:20 0
N6 B/ R BRER—IEE—IRYy A 0 1 : 0
N8 | EHig/N\R SBRER— /N NA—BIEFFRT 1 0 7:33 7:33 0
Ni4 | FHE/NX BEER— EH—H Fih—= BER 5 4 6:40 18:05 0
Ni2 | FiE/\R BEER—HH—=BER 10 | 14 7:30 16:45 1
N12 HiB/N\R BRER— A A—EE 0 1 0
N15 HiE/N\R BEER—EH—Y > FLA—V—=858R 1 4 9:40 20:20 0
Ni6 | FiHB/NR BER—RAHERER—TER 6 0 10:10 15:10 0
iB16 |[{FEFER/ANR Ry BERERE 1 0 14:15 14:15 0
B51 | FEEIRNAR BEER—BHMNE - KEER—=5ER#R 12 1 13 8:20 15:35
iB52 |RFEFEIB/NR BRER—BHBAE - KFER—=88R{E 14 | 14 6:45 20:10 -6
;853 [BEHIRAR BRER—BAMNE - XEER—=5ERR 0 1
=05 |{REFHEIRE/NR BRER— [HE—=BER 16 | 17 7:00 21:00 0
=07 [FEEHER/NR BRER—FE—=5ER 4 | 3 7:10 16:20 0
854 | FEHEIR/AR AREEIRAR Y R 2 10 8:30 9:25 »
7B55 [BEHEIRAR AEFEERAR YR 6 0 6:15 8:00




iB54

FEER/ IR

AEEREE Y 8%

10:05

16:00

10 0

A5 [Fa iR XEEEREY & 9 [0 [ 1630 | 21.00 1
815 |[FE5EE/AR FEHRER 1 0 8:50 8:50 0
B07 [FEFER/AR A\ —= BER 0 1 0
823 |[mtAaLF1/3R BEER— BT ER (REETEEA) 22 | 20 7:10 20:40 -1
811 |mxas7c12 BERER— 5 5 [F—LBiE 1 0 19:10 19:10 1
812 [Ef&>T4/3R EERER— 5 5 ([F—&8iE 4 0 10:10 15:00 4
821 |mxas5112 SERER— 5 5 [F— &8 0 | 10 10
822 |mtALF1/1iR BERER— 5 b ([F—EBE 3 0 8:25 13:00 3
827 |zxass+1z BRER— BT Ak (REETEREA) 0 2 2
813 |mtaYF /52 SBEER—BETIER BEAE) 4 2 7:00 18:15 -5
819 |mtmc7+/ix BRER—ELE (TimEkRIERER) 3| 5 18:30 22:05 0
819 |mtmo7412 BEER—EEET (himRIERH) 410 6:50 7:40

830 [mxms 74,52 BRI O—E8Ea1 (VN1 /N REH) 3 0 7:50 8:25 0
816 |Bt&>7+1z| BERER—ELTBH (Za2—2 /LYY EF7RA) 11 1 10 8:00 17:15 0
759 |Bx&IF 1R BRER—ET 8 (R y EfER) 2 5 7:35 21:45 0
829 |mtar7 2| BEERIO—E@EaT (KREE - N4/ EER) 1 0 7:45 7:45 0
132 |mEmY7 (/iR BER—R RIS 2 — 15 | 20 | 8:56 | 17:45 | 0
732 |Etme TR AR O — R A B et~ 5 — 31 0] 750 | 835 0
815 |mter7/x ERER—RFA 15 | 11 | 7:20 | 20:00 0
838 |mEs7 /5 BRER—FCEA 0| 4 4
758 BBz 1% AR —R A (A B 0|2 0
814 |mteo7/ % . B R2ER—HIR 7 | 5 | 11:50 | 21:20 2
837 |mtmy7/5R BERER—HIR 0] 4 4
11 |mtmerqanz|  BZER—HLANEBAE BERAEEH) T 9:10 17:45 -2
733 |Ex&sF7452 BRER—SER 4 4 6:20 21:00 -2
752 |Bx& TR BEER—BEIIL DB 3 3 6:45 18:55 0
751 |gxasT7417 BRER—IAEmE 12 | 12 6:45 18:05 0
753 |&tasF 452 BEER—Ib /A 18 | 18 6:25 20:00 0
754 BRI F 1R BRER—ANAEZ— 8 7 7:55 16:50 0

wLGEE) | BEaL T 48R BEER—h i EhE - MERA—ETER 0 0 -8
756 |BEx&LF 1R BRI O—EL@EeT (KE/ N VEH) 1 0 7:35 7:35 -1

it 1

K it #h X

REMa| BESR Big A R | B | th Rl | REZ | FEEELL
N5 HiE/NR BEER—IHE—=58R 17 | 14 6:30 20:00 0
N7 FiE/NR B ER—¥nE—= BER 3 4 10:20 18:20 0
N6 HiE/NR BEER—IEE—R & 0 1 0
N8 RiF/\R BRER—INA N A—BIEWRT 1 0 7:33 7:33 0
N14 HiE/NR BEER—mE—E i —= B8R 5 4 6:40 18:05 0]
N12 HiE/NR BRER—WE—= B8R 10 | 14 7:30 16:45 1
N12 HiE/NR BEER—ME—EE 0 1 0
N15 HiE/NR BERER—R—Y > FA—2—=B8R 7 4 9:40 20:20 0
N16 5 TAVS BRI HERRBE—TER 6 0 10:10 15:10 0
B51 |fFEFEIR/ANR BRER—BERANE - KEER—=5ERR 12 | 13 8:20 15:35

B52 | FEFEIR/NR BERER—BEHEAMNE - KFEER—=5ERR 14 | 14 6:45 20:10 -6
;B3 |FEEHRANR BRER—EHEAR - KFAER—=BEREE 0 1

=05 [RFEFHEIR/NR BEER—IHE—=B8R 16 | 17 7:00 21:00 0
=07 |FEER/ R BEER—FnE—= B 4 1°3 7:10 16:20 0
B54 |REFER/ AR KEEEAER Y& 2 0 8:30 9:25 -1
;B55 [FEFEIR/NR KEREEAER YR 6 0 6:15 8:00

iB54 [BERER/ R AEEREEY &R 10]0 10:05 16:00 4
;B55 [FEFER/ R KEEERERE YR 9 0 16:30 21:00

BO7 |[{FEFEIE/AAR J\IEFE—=E58R 0 1 0

kBE|(ster7 2| BEEBRI—IIRABBRH—ETEXRMNAI VAT | 6 0 17:40 21:25 0
756 |Et&>F 11 BRI O—EH@n (KENS YEH) 1 0] 1:3b 7:35 -1

i -11

P ;th 3th (X

nEsa| BHESR R ] R | E| thResl | BRI | EEEL

kEE|strrT 2| BEXERI—IRABRBH—ETBXRENS/VEI | 6 0 17:40 21:25 0
752 |[B+RLF 1R BRER—BETIL T 3 3 6:45 18:55 0
751 |ELRL T 45 SBRER—InE R 12 | 12 6:45 18:05 0




753 |BxR>F 1R BEER—Jb /A 18 | 18 6:25 20:00 0
754 |@mteoF 1R BEER—AAE R — 8 7 7:55 16:50 0
REE|BLE 7112 LN H—= B8R 3 | 3] 7:05 | 16:25 0
756 |mtmeT4/52 BERIEO—E @81 CRE/NA YEH) 1 0 7:35 7:35 -1
Bt -1
£ fE it X
nrsa| BES : ER R : | g | el | KRB | EEEL
N11 HiE/NR JBRER— B ETH LBk 4 3 7:50 13:35 0
815 |[FRERANX IEHAEER 1 0] 8:50 8:50 0
823 |mE@s 74/ 1R BER—BEHI AR (X EETRE) 22 | 20 | 7:10 | 20:40 =
811 |sxas71/42 BEER—- 55 F—&BiE# 1 0 19:10 19:10 1
812 |mtAL T /iR BRER— 5 5 EF—EBE 4 0 10:10 15:00 4
821 |mtms 74,52 BEER— b b [E—EiBiE 0 [ 10 10
822 |mt@ms74ix BER—5 5 F—&iBE 3 0 8:25 13:00 3
827 |mtmsF452 BRER—AET AR (RRETER) 0 2 2
813 |a@tmr711iR BRER—BETN AR (RAR) 4 2 7:00 18:15 -5
819 |mtmRL74/1R BRR—E @ (himEkEIERS) 3 5 18:30 22:05 0
819 [ExRL T2 BRER—EEET (hirmIERR) 4 0 6:50 7:40
REE|EtArF« 2| BEXEBRI—IRLAEBE—SELTEXRE/NI VAT | 6 0 17:40 21:25 0
839 |mxmL 71/ EEERAEO—=18aT (N1 /SREHR) 3 0 7:50 8:25 0
816 |mxtms57+1x| BRER—E @R (Za—D )YV ET7RER) 11 10 8:00 17:15 0
759 [BEtALF11R BRER—ELTER (R sy EEH) 2 5 7:35 21:45 0
829 |[Exa 72| BRERIO—E1Ea (RHET - /N1 N\RH) 1 0 7:45 7:45 0
730 |mEmozs/x DR —RE B R 4 — 15 | 20 | 8:556 | 17:45 0
732 |mE@o7 iR BB O — R et~ 2 — 30| 750 8:35 0
815 |mxRs7 (/% BRR—R P 15 | 11 | 7:20 | 20:00 0
838 |BELRUT /52 BIRER—E B 0 | 4 : 4
758 |[mtms71iz BEER—R B (K#y EEH) 0 2 0
814 |Bimo7/Ax BERER—HIR 7 [ 5 | 11:50 | 21:20 2
837 [mxmL 711z TEER—HR 0 2 i
711 [BxA T2 BEER—H LENEFAR (BEFRAaER) 5 3 9:10 17:45 -2
7133 |BtARLF 412 | BERER—BES 4 4 6:20 21:00 -2
752 [BtmsF1/i2 . BERER—ZEIIILTS 3 3 6:45 18:55 0
751 |Bx&LF /52 BRER—IAEE 12 | 12 6:45 18:05 0
BLGEE) | BERS T 4 /18R BEER—THI R - AERBR—ELER 0 0 -8
: i 12
KEH K
nEme| BESE SRR | R thHEZ | KRB | EEEL
N79 | FlBANXR BRER—pEE—KFE 10 | 8 8:30 21:50 -1
N71 [ Eifg/N\R BERER—XEE-KF 25 | 21 7:05 21:20 0
N72 | FiB/N\R BEBR—p AR KT 0 2 -1
Nd6 | Hifg/ R AEEE—=BER EFEERD 31 | 25 6:11 20:28 -4
N47T | EHENR KFEEE—=B8 (&/MER) 0 6 1
=t -5
FiE#X :
nEme| BESH B8 : AR ER| bRyl | KXEBZ | BEELL
941 [BEx&>F4/52 BRER—BEN AR (FiEEiR) 5 6 9:36 18:36 4
048 |ExmRo71/1 % BRER—E 18 (EEER) 0 3 -6
049 |mt&LT 18R BRER—ETEE GRiEER) 2714 7:30 18:17 6
947 [EtRLF11R BEER—HR. (KIREAER) 0 1 0
943 |BELRIF /3R BEER—EEFHER 8 10 6:45 18:45 9
942 |BEL&R>F413R B2ER— R Hih 19 | 20 6:25 20:30 22
942 |mtms741x BER—R I (FEEREER) 1 1 7:35 7:35 -2
040 |mtRo71 /R B 11 1] 7:5 7:55 2
22—AZ|BERIT 4R wEY (bEBEYER) 3 0 7:35 13:40 -3
Sa—RFEERIT AR EELY (FEEY - 5 5IF—E8&H) 2 0 10:00 18:00 2
(Fa—sr|BERYF 4R ey (FHEYEH) 3 0 8:45 | 12:35 =2
22—z BLBF 482 FEY (hEEY - 5 5IF—ERHA) 1 0 16:20 - 16:20 1
2a—1Z|BEBIF 48R HOY (FAH#EBEREYEH) 1 0 9:15 9:15 -1
sa—z|@rsF«nz| FEEY (BHBREREY - 551F— /) 1 0 11:30 11:30 1
Sa—nZ|BERSF 48R faEy (FEHREREYEH) 1 0 14:20 14:20 -1




sa—z|BrRUT40 | FEEY (FEHBEREY - 551EFE—E8RH) 2 0 15:10 17:10 2
22—iR| BERUTF 18R mEY (FIirERE FIRERTT) 1 0 7:08 7:08 0
i 34
SRR
BRME| BESE iR R ER| hREZ | KEEZ | EEEL
943 |ExBLF41R 3B;2ER—E HFHER 8 10 6:45 18:45 9
942 |BxaRLF41R|" . BEER—R H i 19 | 20 6:25 20:30 22
942 |mtRIF 152 B2 ER—RAH (FEEREER) 1 1 7:35 7:35 -2
942 |BxRIF 152 R i 1 1 7:55 7:55 2
22—z BERYT 4 XR EEY (FHEBYES) 310 7:35 13:40 -3
T A BERUT AR BEY (REEY - bbE—E@m) 2 | 0 | 10:00 | 18:00 2
2a—nZ|BERYT 4R mEYy (bFHEYER) 3 0 8:45 12:35 =2
T2z BERLT 4 /1R EEY (FEAY - 55F—&LH) 1 0 16:20 16:20 1
2a—nREERLT 18R BEY (FEHEREREEYZER) 1 0 9:15 9:15 -1
sa—sx[BEERYT<AR| FHEY (AHBRREY - 5 5FE—L&H) 1 0 11:30 11:30 1
2R | BERYF 4R falEl Y (FAHEREREYEH) 1 0 14:20 14:20 —1
sa—sx @Ry F<sR| FHEY (FAHBRREY - 55EFE—L&H) 2 [0 15:10 17:10 2
Sa iR | BERUT AR RO Y (hirfskes FRERTT) 1 0 7:08 7:08 0
i 30
ZE X
RAME| BEE B | g | th R | RERBY | MEEL
NIl | HifE/AR BRER— B EM IR 4. 3 7:50 13:35 0
823 |=m+BY7 (/12 BRER— BT A (RHEETRH) 22 | 20 | 7:10 | 20:40 =1
811 [mtmos4i2 BRER— 5 5 ([FE—EBE 1 0 19:10 19:10 1
812 [mtas74,52 BER—L5EFE—&EBE 410 10:10 15:00 4
821 [EtAsF4/R BRER— B HFEF—EBE 0 [ 10 10
822 [atme74.,52 BER—L5E—EBE 3 0 8:25 13:00 3
827 |mtRLT (1R BRER—BEm I AR (FHEBTEER) 0| 2 2
813 |mtRLF1/1R BRER—ZETh i mRE (RA) 4 2 7:00 18:15 -5
941 |Exms 7412 BRER—BETIFER GEER) 5 1 6 9:36 18:36 4
819 |[mtms7,/5% BEZER—E @ (FiERIERR) 3 5 18:30 22:05 0
819 |mtALF /1R BER—= L@ (HirEbIEER) 410 6:50 7:40
kEE(Etar7 2| EXBRI—IIRABBH—SLERENAVET [ 6 [ 0 17:40 21:25 0
839 |[BEt&YF 152 SEEERAL O—E 8T (N1 /NRIRH) 3 0 7:50 8:25 0
816 |mtar7+12| BRER—E+T@Ea (Ca—9 )Y E7HES) | 11 ] 10 8:00 17:15 0
048 |mxms71/5% BERR—E18 GEEER) 0] 3 -6
949 |EtRLF 1/ 2 BRER—E 1@ (FEER) 2 4 7:30 18:17 6
759 |mtmo T4 BERER—E+ 8 Ry BERH) 2 5 7:35 21:45 0
829 |mtar7« 2| BRERIEO—FEL@Ea1 (KEET - /N /AX$FH) 1 0 7:45 7:45 0
815 |BtARLF 132 BRER—R T8 15 | 11 7:20 20:00 0
838 |Et&IF /1R BREN—EH R 0 4 4
758 |mtms 7412 BEER—FTFB (K EfH) 0| 2 0
814 |mt&>7412 SBIRER—HIR 7 5 11:50 21:20 2
837 |BLm74/3A ; BEER—HR 0 [ 4 ' 4
947 |BERLF41R BEER—HR CREREAERH) 0 1 0
wLGas | WAL T (/52 BEER—THIERE - MEEH—ELER 010 -8
756 |BtRYF11R BEERIEO—Z Ha@E1 (KE/NM VER) 1 0 7:35 7:35 -1
042 |mt&sF112 R Hih 1 1 7:55 7:55 2
sa—rA| BERT 4 AR REY (PHBYEHR) < 7:35 13:40 -3
2 A BEBY TR REEY (FEBY - boE— L) 2 | 0| 10:00 | 18:00 2
2a—i2| BERYT 1R wEY (FEEYER) 3 0 8:45 12:35 -2
TS| BERUT 48R wEY (FEEY - 55FE—LEH) 1 0 16:20 16:20 1
a2 | BERUT 18R BEY (AHERREYZEH) 1 0 9:15 9:15 -1
sa—iz| @RV« | HEY (FAHBRHEREY - 5 5EFE—E8H) 1 0 11:30 11:30 1
22— R BERIT 43R FEE Y (FEHEREREY EH) 1 0 14:20 14:20 -1
sa—z|ErRLT4i2| FEEY (FEHEHEREY - 5 5EFE—E&H) 2 0 15:10 17:10 2
R | BERL T4 NR 'O Y (HiEbkER A ERTT) 1 0 7:08 7:08 0
& 20
[Rih X
RRma| BES ER AR R || thREA | KB | EEEL
943 |BLRT /52 B2 ER—3 H FEER 8 10 6:45 18:45 9




942 [BxBLF1/iR B ER— R Hh 19 | 20 6:25 20:30 22
942 |mtms711z B ER— R Eth (FEERIRH) 1 1 1:35 7:35 -2
H19 [mtmss+/x [RER—= @Al 4 5 7:20 21:15 0
H43 [=t&s7+/% JRER—Z A Fi#ER 1 0 15:10 15:10 0
22—z | BLANES S S— HEY (EEEABEH) 2 0 8:02 14:50 0
simavus | BERES S S — famEY (BRZEEEER) 0 0
Sa—/SA| BEERES S S— RELY (BkEXIER) 3 0 9:27 16:10 0
Sa—/Z|ELER@E Y o— gEEY (BtEXEER) 1 0 10:40 10:40 0
S22 | BEANES S o— FEEY (EERHEH - SREEER) 2 0 13:05 16:57 0
S22 | BLBMES Y o — EEY (R)IIMEER) 3 0 11:20 18:23 0
22—z | BLEHEL Y o— wmEY (RHXZER) 2 0 1:22 8:40 0
Sa—/R| BERBES Y o— fEy GEAWBFERERT) 1 0 6:50 6:50 0
942 |mtmsF 1R ~ IREH 1 1 7:55 7:55 2
Bt 31
FEHX
Raua| EES BRIR | ER| RS | KRR | EEEL
815 [mtacv7+i12 BEER—ETEA 15 | 11 7:20 20:00 0
838 |ExALT /iR BRER—E I 0 4 4
758 |mEmo 7432 BERER—FTE (Ruy EER) 0] 2 0
mLGEw [ BB F 18R BEER— IRk - MR —E 1R 010 -8
H19 |[mt&cF iz [RER—E L&Al 4 5 7:20 21:15 0
ELRRE/ AR ETER—FETE(ELEN\REBR EER) 4 3 7:17 18:57 1
BLaNEA R TRAPRIR—FEE(ELSNIBER & ER 1 2 16:27 16:27 0
Sa—r | BERNES V- HEY (BREFEHFAMER) 2 0 8:02 14:50 0
seamven| BT BHES 9 S— famEyY (BAZEFRER) 0 0
22— R BEREES S S — wEY (BkBE#EXEER) 3 0 9:27 16:10 0
2=/ | BERHES V- FaEY (BEEMXER) 1 0 10:40 10:40 .0
22—/ | BERBES S V- fEy (EERMH - kEHMREER) 2 0 13:05 16:57 0
sa—iz|BLABEE Y — mEY (F)IMXER) 3 0 11:20 18:23 0
Sa—A| BLEANES S o— wmEY (F)IMXER) 2 0 7:22 8:40 0
SR | BLEMES S o famEY GEAmRFERERIT) 1 0 6:50 6:50 0
&t -3
A X
nRma| BERE BR AR R | B thREZ | KR | EEEL
N21 | =i/ AR B EER— R H I A N — KA 1 0 6:35 6:35 0
N21 | ®i/NR BER—RHIEARN—IH 0 1 0
N22 | HiEE/N\X BEER—RH B R —IE 4 3 14:25 17:55 0
N22 | HiE/N\R BIEER— R I — KHf 1 1 16:25 16:25 0
N23 | HiEg/\R BRI NER—TH 0 2 0
N23 | ®iE/\R BER—A N ER— KA 0 1 1
N24 | EiE/N\R BRER—AEEWH 9 | 10 8:25 16:55 -2
N24 | HiE/\R BERER—KEEWH CEEYREH) 1 0 7:15 7:15 0
N24 | HiEB/NR BEER—TH 51 3 9:25 20:25 0
N24 | HiB/\R BEER— K HIE 1 1 10:25 10:25 -1
N24 [ FiE/N\R BER—FE 0 1 0
N24 | EiEB/NR BER—MFE 0 | 1 0
N24 | Hig/ X R Y IXER SHT—EERE 2 —Hl 1 0 7:18 7:18 0
N24 | FigENR BERER—FHt X 2 —hI 0 1 1
N2b | EHig/\XR BEER—FH 1 1 18:20 18:20 0
B | BREERNR BRER— R T R FERER 13 | 13 6:10 20:15 0
B12 [FEERNX|BRR—FERFERE (EMU/NEYREESR) | 18 | 16 6:10 20:15 0
B3 [FEFER AR BER—FERFEERR (MO LEH) R ] 16:30 16:30 0
B4 |FEERNSR| BRER—FERFARE GRER. EEY) 1 0 7:20 7:20 0
B9 | REREENR BER—F I RMEERER 4 4 14:30 16:00 0
BT [ RN BER—FERMERE (BHIT) 15 ] 11 9:00 21:30 -2
B -3
A5E i X
nRme| BEE B R ER| thREEZ | REBZ | EEEL
N21 | Fig/ R B ER— R F I ] A — KA e 1 0 6:35 6:35 0
N21 [ =g/ AR BER—FHIE AN —ITE 0 1 0
N22 | Fig/ R BERER—RHBPFER—TIA 4 3 14:25 17:55 0




N22 | /R BRER— R F I — KHIR 1 1 16:25 16:25 0
N23 | Ei#E/ X BRER—AT AR —I 0 2 0
N23 | Eifg/\X B R ER— 3 A i — K A LR 0 1 1
N24 HiB/AR BEER—KEER 9 10 8:25 16:55 =2
N24 | FEHE/NR BEER—AKEEN CEBYER) 1 0 7:15 7:15 0
N24 | FiE/NR BEER—T R 5 3 9:25 20:25 . 0
N24 HiE/NAR B2 ER— K HAUE 1 1 10:25 10:25 -1
N24 | F@/NR BiEER—RIE 0 1 0
N25 HiE/NR BEER—F H 1 1 18:20 18:20 0
= -2
GichE ] =8
nree| BEE BRHR ER|ER| BRI | REBZ | EEELL
N21 | Fifg/ R 7B ER— R FF 185 AT P — K R 1 0 6:35 6:35 0
N21 HiB/ANR BEER—RHBGRN—TE 0 1 0
N22 HiB/NR BER—EHGPFR—IE 4 3 14:25 17:55 0
N22 HiE/NR B2 ER— R I — KA IR 1 1 16:25 16:25 0
N23 | Eifg/ X BiRER— AN ER—iT 3 0 2 0
N23 | FHE/N\R BRER— A A B i — K AR 0 1 1
N24 BHiB/NR BRER—KB B 9 10 8:25 16:55 -2
N24 | Fi@EB/\X BEER—KEEWR GEEBYER) 1 0 7:15 7:15 0
N24 HiB/NR JBEER—TE 5 3 9:25 20:25 0
N24 iR BEER— KA LR 1 1 10:25 10:25 -1
N25 HiB/NR BEER—PF H 1 1 18:20 18:20 0
BxES| FHRE FH—IH 6 6 7:55 16:15 0
it -2
P Hih X
RRsE| BESR BRiR | ERR| thReEZ | RERZ | EEEL
032 HiE/N\R PH—EEFER (B OEEH) 3 4 10:00 14:20 0
C31 HiE/N\R FH—FELEERA0 1 0 7:05 7:05 0
€30 R/ AR FPH—EEFER WIORIEER) 4 3 6:10 17:00 0
N25 BN BERER—F R 1 1 18:20 18:20 0
Bxils| FHIRE FHIFEH-TIEER 3 3 6:50 17:20 0
gxl| FHIE FH—IH 6 6 _7:55 16:15 0
&t 0




